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QUESTION 1

Which two REST API actions are supported by Oracle WMS Cloud? (Choose two.) 

A. SEND 

B. RECEIVE 

C. DELETE 

D. GET 

E. POST 

Correct Answer: DE 

 

QUESTION 2

Which Inventory screen should you use to configure the Inventory Adjustment Code in Oracle WMS Cloud? 

A. IB LPNs 

B. Reason Codes 

C. Items 

D. Inventory Lock Codes 

Correct Answer: B 

Reference: 

https://docs.oracle.com/cd/E12448_01/rms/pdf/rms_rfm_br/1413/html/ug/ chapter5.htm#CHDBFGEA 

 

QUESTION 3

The following configuration is set for the Advance Shipment Notification type: 10% Under Receipt Warning, 10% Over
Receipt Warning, and 20% Over Receipt error. Which two statements match the condition set if the ASN Qty is 100?
(Choose two.) 

A. When the Operator receives 125 units, the RF screen displays an Over Receipt warning message. 

B. When the Operator receives 101, the RF screen displays an Over receipt warning message. 

C. When the Operator receives 110, the RF screen displays an Over Receipt warning message. 

D. When the Operator receives 89, the RF screen displays an Under Receipt warning message. 

E. When the Operator receives 130 units, the RF screen displays an Over Receipt error message. 

Correct Answer: CE 
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QUESTION 4

Your customer is a Third Party Logistics operator (3PL) and ships multiple customer\\'s orders from two centralized
facilities, one on each coast of the country. How do you set up the Facility, Company, and User hierarchy in the system
(in sequential order)? 

A. Because of the distance between Facilities, you recommend two WMS Cloud instances for your customer. 

B. Create the 3PL\\'s customer\\'s Companies first, then the Users, next assign customers and Users to the Facilities,
and finally create an Admin account for the 3PL in each facility. 

C. Create the Parent 3PL Company, then the Facilities, next the Companies, next re-create each User in each facility he
or she is eligible for work. 

D. Create the Parent 3PL Company, then nested Locations Zones to represent the facilities and the customer
Companies and finally add the Users. 

E. Create the Parent Company as the 3PL, then the two facilities, next the Users in the facilities, and the Companies
that represent the customers, and the users to the companies. 

Correct Answer: E 

 

 

QUESTION 5

You are performing the Split IB LPNs RF transaction and seeing an error message: Shipment Verification 

status mismatch. 

Which three are valid? (Choose three.) 

A. The from-IBLPN and the to-IBLPN might be received against two different ASNs respectively. 

B. This error message will disappear if the RF screen parameter required-validations is set up as No Validation. 

C. This error message will disappear if the RF screen parameter split-uom is left bank. 

D. If the to-IBLPN is received via the Recv Shipment RF transaction, the from-IBLPN might be from the Create RF
transaction. 

E. The from-IBLPN and the to-IBLPN might be received against the same ASN. 

Correct Answer: BCE 
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